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NSC/NSS — Marking Guidelines/Nasienriglyne .

NOTE:

e Ifacandidate answers a question TWICE, only mark the FIRST attempt.

» Ifacandidate has crossed out an attempt of a question and not redone the question, mark the
crossed out version.

»  Consistent accuracy applies in ALL aspects of the marking memorandum. Stop marking at the
second calculation error.

*  Assuming answers/values in order to solve a problem is NOT acceptable.

NOTA:

e As 'n kandidaat 'n vraag TWEE KEER beantwoord, sien slegs die EERSTE poging na.

* As 'nkandidaat 'n antwoord van 'n vraag doodltrek en nie oordoen nie, sien die doodgetrekte
poging na.

e Volgehoue alkkuraatheid word in ALLE aspekte van die nasienriglyne toegepas. Hou op nasien
by die tweede berekeningsfout.

® Om antwoorde/waardes te aanvaar om 'n probleem op te ZOS, word NIE toeoeladt ME
// ra

GEOMETRY ¢ MEETKUNDE

A mark for a correct statement
(A statement mark is independent of a reason)

'n Punt vir 'n korrekte bewering
('n Punt vir 'n bewering is onafhanklik van die rede)

A mark for the correct reason
(A reason mark may only be awarded if the statement is correct)

‘n Punt vir 'n korrekte rede ,
('n Punt word slegs vir die rede toegeken as die bewering korrek is)

| Award a marKk if statement AND reason are both correct

Ken 'n punt toe as die bewering EN rede beide korrek is

3 B 8
a;l\/jm\‘; (2

L

/ 3
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NSC/NSS — Marking Guidelines/Nasienriglyne

QUESTION/VRAAG 1

Monthly income (in rands)

Maandelikse inkomste (in rand) 9000 | 13500 15000 | 16 500 17 000 20 000

Monthly repayment (in rands) | 5000 | 3000 | 3500 | 5200 5500 | 6000
Maandelikse paaiement (in rand) |
L1 | a=-1946875..=-194688 o perolky hoc rowdhics] ¥ a=_194688
b =0,41 a ea™ v b=0,41
’ oV A ly: Full mark :
$=—1946,88 + 0,41 PR S | | v equation
gL~ B swepped ot I3 _ ancuer enly O AR O (3)
1.2 Monthly repayment ~ R3 727,16 (calculator) v'¥ answer
Maandelikse paaiement ~ R3 727,16 (2)
OR
» =-1946,88 + 0,41(14000) v substitution
~ R3 793,12 A v’ answer
| 4 #F-ve - ealigtiv @)
1.3 r=0946 .... ~0,95 v answer
;A 5 0,%% W& (€]
1.4 Not to spend R9 000 per month because the point (18 000 ; 9 000)
lies very far from the least squares regression line. OR D v'v" answer
Spandeer nie R9 000 per maand nie, want die punt (18 000 ;9 000) e s i (2)
lé baie ver van die kleinste-kwadrate regressielyn. OF D s ansiivhe

Bl

\
Copyright reserved/Kopiereg voorbehou Please turn ()Ve}}@z’aai om asseblief
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QUESTION/VRAAG 2
' 2.1 Number people paid R200 or less = 19 [ v answer
! _ Aanital mense wat R200 of minder betaal het = 19 ___ﬁf% (1)
122 7+12+a+35+b+6=100 +~ o = K0 = f/Zx-—IOO
5| a=40-b 7 . B+ 0 =R ] v a=40-5
'k;; A 4o =uwo v ) / L
(50x7) + (150x12) + (250 x @) + (350 % 35) + (450 x b) + (550 x 6)¢
309 = 100 LV Z JX nlis et
(50 7) +(150x12) + (250 x (40 = b)) + (350 x 35) + (450 x b) + (550 6) - v fX £309)
309 = C ! fl
100 (r_—
350+ 1800 + lgofoo — 2505 + 12250 + 4505 +3300 = 30900
2006 = 3200 - no raldporinks onax e
b= 1 ) v 2006 = 3200
b=16
» =24 o %) - 2( & -
’ Sa, ¥ A 2OE o eges © |
g(_{) = (Z, V ‘ r
OR/OF S YT |
o = ©
7+12+a+35+b+6=100 v > x=100
b=40—-a [V b=40~g4
300 - ‘(50><7)+(150x12)+(250><a)+(350x35)+(450xbg+(550x6) ™ 3 fx
- 100
300 = (BOX7)+(150x12) + (250 x @) + (350 % 35) + (450 x (40 — @) + (550 % 6) | Z% =309
B 100 |
350+ 1800 + 250a + 12250 + 1800 — 450a = 30900
1 200a =4 800 v 200a =4 800
La=24
b=16 |
2.3 | Modal class/modale klas: 300 < x < 400 v answer
Begwee n 200 ond 600 ¢))
X\@VW ST v}wb . _ ] :
C \u e ‘( RN j C/\b(, '\‘Ct W\CQZC:&CLC{ v
o ’iif’ fjggg »
SPpFERUEYEC T
o gﬁg’;m A Q % . ;\K
AT T s
\ NGO ot
QQUERT et
A

Copyright reserved/Kopiereg voorbehou
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DBE/November 2019

CUMULATIVE FREQUENCY GRAPH
' (OGIVE) ’

=4
N T )
IAPAS
'S AR
5
L
g =
L5 B
Ay
e e
S 1S
e 2y
~
g 0%

Copyright reserved/Kopiereg voorbehou
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100 |
90 v’ grounded at
0;0
5. 80 0;0)
=
s 70 v (600 ; 100
g 60 ot ovz
= / v cumulative
@ 50 .
2 frequencies for
=40 y-coordinates
é 30 “ e, YWNOVE Coneci ?'
5 T - v smooth shape
20 T =k 755 : e wder
10 ERET TagaieE er;,:ig i f’}i,%‘—«"\e: s ;‘u
B 34 I " oy
0 & 1t : fowe lindes Zg
0 100 200 300 400 500 600
Amount spent (in Rands) on cellphone contracts per
month
“““““ . e (4)
2.5 | Number of people/dantal mense = 100 — 82 [accept 80 — 84 people] v 82
18 people paid more than R420 per month/. [accept 16 — 20 people] v answer
7 . "
18 mense betaal meer as R420 per maand Answer only: Full marks o
| medes [13]
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QUES

TION/VRAAG 3
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NSC/NSS — Marking Guidelines/Nasienriglyne

JR@3;5)

P J ;
20 ) |
E 0 'F &
- " ; &, ’(ﬁd:
§ iy | d e S
T(_5 ? k) »\.\‘\ /{ ‘(‘TL”'%E:; o P‘d;»“‘” ;
N ] el e T 'sj‘ggi.‘:-" nvg"i rw,w‘*” ol
%, o R TSN {) 1355 £ S SR v
s, 5 i # D wv“"‘; aar e ?:gﬁﬁl
E Yilhe ;
% s ] gl % ,‘\\’ % 4
\\\ Y g “5 ‘;}'L.‘;L- %\ < «L%“E,,
\\\ .'.-"J : R \\[‘}R& G’?}“‘,@w ":I &
S , PR oy O
S(-3;-7) ppPROVES ot

3.1

Equation of PR: y =5

v’ answer

3 .2‘ 1 n — o f = {é;)z'\- C/;l
Mpg = 2221 5 Ay
X2 X

_=(=7ND_12
T 3-(=3) 6
=2

RS

Answer only: Full marks
M= W, - .(12,

oL =Kz

A t f 2,

W

v’ substitution of R & S
into gradient formula
v’ answer

@)

322

mys = My [PT || RS]
tangd =2
g = 63,43°

ReieT

p—
o Of
AR YD

6{:\ 1’%\/’(3%‘/\-' % 2'~\

= ,%\vecv\’\ PO AN m@&"“/ &
g

© = da Ty

4 Mys = Mpy
v tan@ =2

1 3.2.3

Equation of RS:

y—=5=2(x-3) or y-
y+7=2x+6

y=5=2x-6
y=2x-1

L DO;-1) (A o feo—

OR/OF
Mpg =Mpp = mpg
5=y  y+7
T3-0 0-(=3)
Sy=-—1

-D(0;-1)

-7)=2(x=(-3) or 5=203)+¢
c=-1

y=2x-1 y=2x-1

£, Bk

Answer only: Full marks

\‘> A N

DTG

L. Y™ 3 2,/
A

v equation of RS
. ¥ coordinates of D

VTR (3)
Famre o ¥a - 27
(T ALY Y g
.

| ¥ equating gradients

v 0 =63,43° cncioes chaly Zia
¥ substitution B0 opmny Pieer poust

j"\ et ""2 A e \E
Sl NP URITRY
DO, 1)

v value of y
v" coordinates of D

Copyright reserved/Kopiereg voorbehou
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: NSC/NSS — Marking Guidelines/Nasienriglyme

: 3.3 , ST = 2\/5 ____: \’!;[_5 _ (_3)]2 +(k _ (__7))2 /‘ v Sl:lbstltute S and T lntO ,
| , distance formula
| 20=4+(/€+7)‘ ’

Ck+7) =16 . v isolate square
k+7=44 5 just & _ . v square root both sides
f k=-11 or k ==3 R 7 al
L k=-3 -’ v’ answer
(4)
OR
ST=2+5= VIS =3 + (|- (-7))° v’ substitute S and T into
20=4+k* +14k + 49 distance formula
k* 414% 4 33 = v’ standard form
Ck+H1ID(E+3) =0 v’ factors
L k=-11 or k=—
£ ‘o 1 3 or 8 v" answer
f ' ‘ ‘ “4)
3.4  Method: translation
T—S:
v’ method
() > (x+2;y-4)
. by symmetry: D—N;: 7 )
D(O : _I) -5 N(O +2 ; o, 4) x-coordinate
N :-5) v y- cogrdmatg
o Answer only: Full marks | M Cot2 . )
OR S
Midpoint of l:N ; Midpoint of ?D , 1 v method:
e e ] y+(3) _ =7+ midpoint of diagonals
é 3 2 ; 2 2 v’ x-coordinate
' x=2 and y=- 7 o .
CNQ ;- 5 Answer only: Full marks y CaoTdiate | (3)

N
y ,;:\\m\\\t\ )fj 3 Sy

Please turn ovéfé?']]aai ont asseblief
{

S
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T '
oJ ot
R’ P P/ R
I g el B
1 ~ 7
| 7 i s
AN & A Pt
1 3 5 1 X
N ~ \Q F/ V]
E *
D
T
S

F1is the inclination of RS -, £ =63,434...°
OFD = 63,434...° [vert opp £s]
ODF = 90° - 63,434...° = 26,565...°

v [ =63,43°

v ODF = 26,57°

RDR = 2(26,565...°) = 53,13° v answer |
(3)
OR
PEFR is a |jm [both pairs of opp sides || ]
~R=60=63434..>  [opp s of |m] v R =6343°
| RR'D = 63,434...° [£sopp=sidesRD=R'D] | v RR'D =3 43°
s ; z
RDR’ =180° - (63,43° + 63,43°) [sum of /s in A]
A v answer
RDR =353,13°
% 3)
OR
()]’j"h — é ? (¢ - s \ CL)S} i
b S E%’M v trig ratio
ODF = 26,565..° ¥ ODF = 26,565..°
A/ = oy — o
RDR’ = 2(26,565...°) = 53,13  ehme:
(3)
OR
R/(-3;5) [reflection of R(3 ; 5) about the y-axis]
RD =+/(3=0) + (5 — (1) Y R/(-3;5) ©OR
RD =45 =R/D or 35 or 6,7 - R~ V45 =R/D ?
(RR / )2 oy m) 2 ( \/E)z =2 \/E)( \/’E) (cos RBR/) :S)estttutwn 1nto cosine
6% =45+ 45-2(45)(cosRDR )
~ 3
cosRDR/ = 45 e 2  —36
2045)
| cosRDR’ =§
" A v answer |
b RDR = 53,13 o ( 3)
"“}»a"?

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG 4 ' ' y

-

/ D A(=1;0) o}

4.1 | M(-1;1) Y M(-1;1)
(x+1)? +(y=1)% =1 Answer only: Full marks VLHS v RHS A

G).

4.2 | Midpoint of CB, N: (- 0,5 ; 1,5)
X +0 1 ye +1

=—— and
2 2

5 C(=1;2)

3
5 Answer only: Full marks

v'x value v y value

@

OR
B—N:
(x;9) > (x-0,5;y+0,5)
N—C:

Answer only: Full marks

(x;9)—=>x-05;y+0,9)
S C=0,5-0,5;1,540,5)

L C(=132) v'x value v y value

@

Iavd

Copyright reserved/Kopiereg voorbehou Please tamn over/Blatfi om asseblief
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DBE/November 2019

43 (-1
2-1 o, 276D 0=
Moo s == OR OR
radius 1-0 1.3 1-3
2
=-1
> mtangent = 1
y=mx+c
y=x+tc
2=1(-D+
D+e s \naves
C — 3 /’—)\v Ci,’“’%’,\'/ = \N\
g
Ly=x+3
=]
y—Xx “ p
At 5o
OR IRy
_ ; m’_;;‘.ﬂ" G = 3 o)
= B € P2
radius _ 1 _ O w‘__: o ?Q\ ,18‘:\%; ‘&\ % {:}: ) (4{3?3.,
_ —_1 \ P ) ) t.m:,& e
.'- m(angenf :1 \ - %
Ay
Y

y=y=mx-x)
y=y =lx—-x)

“radius

tangent

v substitute (— 1 ; 2)
and m
v’ simplification

v m

radius

m tangent A %3 W s

v’ substitute (- 1 ; 2)

i~

Mo 2y +
j

4)

y-2=lx-(-1) and m
y-2=x+1 v’ simplification
Sy=x+3 Py = b ©)
y—x=3 : M arnczadc mSt ceNeulodke ) PVER \‘fq;z
4.4 | Tangentstocircle: y=x+3 andy=x+1 e > > Vy=x+1

7% b\ = e 13
~t>3 or <l B Answers only: Full marks vVit>3 vir<l

CTI LT T, 3beaT s (3)

4.5 | Draw rectangle CNED: ‘
C(1:2)
. 7 3
Midpt of DN e ‘1N(-—}—'-3—] v midpt of DN
B-2;-1) . B
27 2 } v'x value v' y value
2 = 3)
DE3;0) .
OR/OF
D(=3;0) v’ coordinates of D
C—N:
(3> (x+0,5;y-0,5)

D—E:

D(x;y) > E(x+0,5;y-0,5)
~ E(-3+0,5;0-0,5)
- E(=2,5;-0,5)

Answer only: Full marks

v'x value v' y value

Copyright reserved/Kopiereg voorbehou
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nrighmne

C(~1;2)

B(0;1)

e

D(—/3; 0) A(:;l; 0 O

area of trapezium AOBC = %(1 +2i(1y
= 1% square units

area of AACD = —;—(2)(2) ol

7

=2 square units &

area of quadrilateral OBCD = 3—21— square units

; 2(12=Z
o 2
a2
4
A7
a=—
2
OR

- v substitution into area
of trapezium form

|V area of trapezium 4

¥ area of triangle ACO

v area of OBCD

v’ equating area OBCD
to 24°

(5)

Copyright reserved/Kopiereg voorbehou
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D(-3;0) O

BM produced cuts the tangent at F.

. 1
area of ACFB = 2 1) v’ area of triangle
= 1 square unit
1 v’ substitution into
area of trapezium BFDO = 5(2 +3)(1) area of trapezium

1 , § _
= 25 square units | ¥ area of trapezium

| 1 '
area of quadrilateral OBCD = 3 5 square units v area of OBCD

v equating area

24° =t
> OBCD to 24?
a?=1
4
o= o)
> |
OR

Copyright reserved/Kopiereg voorbehou Please turn Ovsr/l@}@z asseblief
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DBE/November 2019

/ | \ B(0;1)

Join DB
area of AODB = %(3)(1)

square unit

3

| 2

| area of ADCB = %(2«/5 X\/E )
2

quare unit

72}

c.area of OBCD =

o | W

+ 2 = square units

b 2a° =

|18}

Q
it

Q
I

Al o
Njfﬂ

OR

v’ subst into area of A 0

v area of A OD®

v areaof A DU
v area of OBCD

v’ equating area
OBCD to 24?

(%) |

Copyright reserved/Kopiereg voorbehou
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DBE/November 2019

{1 E(0;3)

1B(0;1)

area of ADEO = %(3)(3)
9 .
= 5 square unit

arca of AECB = %(2)(1) or %(«/5)(«/5)

= | square unit

Let E be the point of intersection of DC with the positive y—axis.

v area of Atz &

oL}
v area of A DEY

v’ subst into area of AGL:

S

area of quadrilateral OBCD = L 1=3 2 square units
2 2 | v area of OBCD
2a% = 7 .
2 v’ equating area
227 - OBCDto 247
4
J7
a=—
2 (5)
) [20]

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG S
5.1 inx
X in(180° + x) cos(90° - x)
cosSx.tanx
= SOX -+ (—sinx)sin x T = e v —sinx v sinx
sin x ‘~' sin x
COS X. o vtan x =
cosx
=1-sin’x (A v 1—sin? x
20052 X v COSQ X
(5)
5.2 sin? 35°—cos? 35°
4s5in10°cos10°
—(008235°—~sin235°) 2 .9
- v —(cos 35°—-sm‘.>5°)
2(2sin10°cos10°) N o v'—cos70°
_ _—C0s70° ot Pl Y 25in20°
25sin 20° B
—cos 70° 1
= T 08 70° DY v answer
| | )
5.3 2sin? 77° = 2[sin(90° - 13°)] : Y using co-ratio
v’ reduction
=2005 13°
=2005'g3°“1+1 v 2c0s?13°—1 = cos 26°
— cos216 +1 v answer
=m+ @
- OR 2 Law s
| 1-2sin? 77° = cos154° 0 Y 1=2sin* 77° = cos154°
| 28in® 779 =1 - cos]54° N N ¥ 2sin” 77° =1-cos154°
\ —1-(~c0s26°) v reduction
e v’ answer
= 4)
5.4.1 - sin(x+25°) cos15°—cos(x +25°)sin15° = tan165°

sin(x+25°-—15°) =—0,2679... OR =2 ++/3 | ¥V sin(x +10°)

900 =S Feots sin(x+10°) = —0,2679...0R —2++/3 | ¥ —0,2679...
x4+ 10° = 195,54° + £.360° or x+10°=34446° + k.360° | ¥ 195,54° & 344,46“’

x =18554°+%360% keZ or  x=334,46°+ k360°k e Z v 185,54° & 334,46°
~L5, 541 + +E360% beZ

,‘f; \,mi:}

(6)

OR/OF

H o e T A
. (| Ly NLALA

Copyright reserved/Kopiereg voorbehou
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| ref. £=74.4577...°

x= —25,54°+ k360°% ke Z or x=185,54°+k.360° ke Z

| x+100° = 74,46° + £.360°

| cos(x +100°) = 0,2679...

- sin{x +25°)sin 75° - cos(x + 25°) cos 75° = tan165°

j | —(cos(x +25°) cos 75° - sin(x + 25°) sin 75°%) =-0,2679...

or x+100°=285,54° + £.360°

DBE/November 2010

V'V cos(x +100°)
v -0,2679..]
i

v 74,46° & 285,54°
|V —25,54° & 185,54°
v +k360% keZ

| { ©)
[ -) = 2 " [o] / N — i . 1 ° =.
i S S :;2(35 Loblg Answers only: Full marks Jie = sl +10°) |
| For minimum value of sinx : x=270° v 270°

For minimum value of sin(x+10° : x=260° v answer (3) _
: # [22] |

N P fwﬂﬁ";(”r A< ":} —iS U@g =
M >
g

9 “—’1@
SL W0 = o
e | E AT

Copyright reserved/Kopiereg voorbehout
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QUESTION/VRAAG 6
Yy -
y - g .
/f.f 1 \\ ¥ 4 \\‘\\
; \‘\ . _ ; K\\ ,i:
-90°  / 0" 90 180° o 2700/ 360°
P \\\ 5 N .\\' — B
P \\\\ p )_,‘,/
i \ e e | f
6.1 Rangeof £ y€[-2;0] OR -2<y<0 v critical values

v’ notation

O R A~ i
X ~2T ,} Y ~—Xe. a’\‘ckﬂ TS ol

6.2

v’ critical values oot coveect
v’ notation
= 290 (BO% L% > 2AUSE

) e Je

6.3 PQ= cost (smx "1)

= l-2$in x—sinx+1

Lo gone =i

Sinx = ——

_=C) k=
2(-2)

: 1
Sinx =-—
4

c.x=194,48° or x = 345,52°

-~

= —2sin’ x—sinx+2 /R s~ F -2

v PQ=cos2x—(sinx—1) Silod

v cos2x =1-2sin’ x

v'substitution into formula
r 2 o 7

i
il

s N
i = Aaoe

i
!

Vsiny =——

|V 194,48° V345,520

(6)

[10]

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG 7

AKF = y . ;k-yv"
. Area AAKF= -;- AK.KFsin AKF
1 \/?;x Tx .
=—, : sin y
5. 3
_x’V21siny
a 8

A
B
*
i C
i
E F
-71 i _ AK fé\ (‘%Oﬁ{ f}‘:‘\;\ —_ j)ﬁg(’_fv 7{7 G2 LD
; s1n60°——;_—— ! “;;chio / ngratlo
W3
AK =xsin60° or ——x or 0,866x v answer
2 @‘\ yOTs ) @)
7.2 KCF=120° S T | v answer
; (1)
| 7.3 KF? =CF? +CK? - 2CF.CK cosKCF (A fnove T2 v correct use of cosine rule
l %Y G e T A< «
= x? +( ) -2A( )cosuoo 10 moes 2 v'substitution
2 2 Aedes f\ﬁ/ ‘AJ‘
v c0s120°= L
2

Wz

v KF =

v’ correct use of area rule

vsubstitution

v  answer in terms of x and y \\
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QUESTION/VRAAG 8 7

s R

NS

811 | R =80 [co-int £s/ko-binne Ze; QW || RK] Y8R 7
ﬁ}z“f\":d\\ Se ng ke gdeded

A | « @)
8.1.2 P =100° [opp £s of cyclic quad/teenoorst Ze v koordevh | VS ¥R
8.1.3 PQR =136° [ext £ of cyclic quad/buite £ v koordevh] js vR

A . L Win S

Qz =36 3)

OR

PUW :éz =136° [corresp Zs/ooreenkomstige ZLe; QW || RK] v'S vR

PQW +P=POW  [ext /s oflbuite £ van A QPU]

PQW +100° =136° |

PQW =36° V'S

3)

OR

» . VS v

U, =180°-136° =44° [co-int Ls/ko-binne Ze; QW || RK] & FH

LA’I] = 03 =44° [vert opp Ls/regoorstaande Ze |

PQW =180°—(100+44°) [sum of £sin A/som Le van A)

PQW =36° v

().
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814 (,=§,=136°
|
| OR

U, =100°+36°
= 136°

.

'OR
0, =pP0w=136°

| OR

U, =180°-T,
=180°—44°
=136°

| 2|

[ext £s of/buite £ van AQPU] ' vs VR {

| ) |

[vert opp Zs/regoorstaande Ze ] V'S vR
!

@

[£s on a str line/Ze op reguitiyn] VS VR

)
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8.2

Y

2.1 oa
CD 18 2
FT _5_1
TC- W 2
ET_7_1
™ 14 2
- AEFT ||| ADCT [ SidesofAi in prop/ sye van A in dzeselfdc verh]
. BFD = ECD 2 Cvekar ot prop + vemchicled
OR
In AFET: In ATDC:
49 =25+81—2(5)(9)cosF 196 =100+ 256 —2(10)(18)cosC
~ 19 _
= cosC =—
cosF 30 S 30
C =50,7°

v'v all 3 ratios = %

Vv F=50,7°

Vv C=50,7°

F=50,7°

v AEFT ||| ADCT v R

4

(4)
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; EED = ECD [proved in 8.2.1]
, F, C and D are concyclic

FCD is a cyclic quad_ converse /s in the same segment/
LMV IS a cyclic quad, [ VAL YEISG & ' vS ¥R

| E
L ,

f (LS, omgekeerde Le in dies segment]
J

| DFC =DEC [£s in the same segment/Ze in dies segment] VR

[16] |
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A

0, =360°-x [£s round a pt/Ze om 'n punt | =lv 62 =360°—x
A ‘ 1 . e A
- M =180°~ Ex [£ at centre = 2 x/ at circumference/ S B vM=180° ~—1—x vR
middelpunts / =2 x omitreks 2 ]
s "I"z + A] =—Xx [sum of £s in A/som Ze van A ] g;’/\/ Az + A] =%x
’i’z — 131 =—x  [£sopp equal sides/Ze teenoor gelyke sye) Qj - f’] =—x vR
~STM = }31 :i—x [tan chord theorem/raaklyn koordstelling] g]ﬁ"' vR
™
OR/OF ) g
(32 =360°—x [Zsround a pt/Le om 1 punt | V0, =360°-x
. . v'S vR
SM=-0, [£ at centre = 2 X/ at circumference]
S Tr +P; =180°-M [sum of Zs in Alsom Ze van A ]
T2 = }31 [£s opp equal sides/ /e teenoor 55’,5?[;),’:'7?‘?,,5}1?) vR
T lsoe—Nt 180°-10, 180°-1@360°-x) [ i
== = = = =—x" et
2 2 2 4 |v' S
n 1 |
= STM =Z x  [tan chord theorem/raaklyn koordstelling] YR 7
[7]
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QUESTION/VRAAG 10 ﬁ - ) — s

10.1
»"/;J‘
/f
P4 .
S
B /\
10.1  Constr: Draw h, from E L AD and h, from D L AE v constr/konstr OR
Konsz‘r Trek h vanafE L AD en h, vanafD 1| AE reason: common
xﬂ ;\r‘ Lo v ng «.kﬁ(,’d\aél R ST e vertex qr
Proof/Bewys: same height
1
—ADxh 1
area AADE 2 ' AD area AADE 3 ADx},
1 - v -
area ABDE -~ ppy p DB .~ areaABDE 1
: DBxh
2
1
area AADE EAE xh, _AE , areaAADE  AE

= = area ADEC EC
area ADEC %E Cxh, EC

' Butarea ABDE area ADEC [same base & height or DE || BC/ v S vR
| eBd. & V’}ji;y dzes basis &hoogz‘e of DE || BC]
| area AADE area AADE 65 Dotwer [ il
"area ABDE  area ADEC

. AD AE

‘DB__EC

V'S
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10.2
102.1 ; =X [Tans from same point/raaklyne vanaf dieselfde pt] V'S ¥ Ricmcond ity wivd
- L5 €D =— 2 ‘v_l;“»q t J b
R=x [tan ch(;rd theorem/raaklyn koordstelling] VS VR
W3 = [corresp Zs/ooreenkomstzoe Ze; WT || RV] VS vR
10.2.2(a) s = Wy = x [proved in 10.2.1] £ v S
W, S, T and V are concyclic/is konsiklies
WSTV is a cyclic quad [converse /s in the same segment/z.; 70k i{“va Chosee
OmgOkeerde Ae zr c’ze e{fde chﬁie:‘”ﬂ
Pienga W ‘1 e o i AS 2) |
10.2.2(b) W = é2 = X [45 n the same secrment//je in dzes Segment] v'S vR
: '\71 = Wz =x  [alt Zs/verwiss Ze ; WT || RV] v S/R
But R = x [proved in 10.2.1]
R=V =x v
TLWR=WV  [sides opp equal Zs/sye teenoor gelyke Ze]
AWRY is isosceles/is gelykbenig
(4)
OR/OF
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§2 :\31/2 =x  [<sin the same segment ] ‘ v'S ¥R j
; . " |
VV’ 2 = W3 =X | ‘
!; WZ +W3 =ﬁ+{/l [eXtLOfA] J ‘/S/R g
| L Vi=x=R V'S ’
“’ - WR =WV [sides opp equal Ls/sye teencor gelyke Ze]
[ AWRV is isosceles/is gelykbenic | (4) P
| 10.2.2(c) In AWRV and/en ATSY l 7
§ S, L_" uu (0= [proved OR tan chord theorem] | V'S J
A ‘:/ =V, =x [proved] v
! - AWRV NATSV - [£, 4, 2] o ; VR |
(et pt Y= VX | % A WRY omd A TSV ore oo eed ;
| OR/OF L% V=U=% Common & mex | ) !
In AWRV and/en ATSV
R=§, = [proved OR tan chord theorem] V'S %
\71 = \73 =X [proved] v'S
W, =STvV=x [sum of £s in A/Ze van A] /S |
. AWRV ||| ATSV ) '
1022(d) | RV _ WR
; SV TS [ AWRV ||| ATSV] v correct ratios
} | WRxSV =RVxTS
\;VI? IS<\\// [prop theorem/eweredighst; WT |1 RV] WR _ KV VR
L/WR xSV = KVxSR/ SR SV
I};\\i x TIEV AV atR v’ equating WR xSVa= F F
"SR TS AN tdp oo od
{\EO }?@f\’ﬁd‘fb Jf\m C/\-\C\N\f Al CQ&L,” ‘lwi JAN CoALAnk k}\‘ s ( 4)
OR/OF
In ARVS and/en AVKT v identifying correct |
SVR=Ky" [alt Zs, WT || RV] As
SRV = ‘73 [proven] y '
ARVS || AVKT [£, £, £ ] proving |||
B_Y KBV v correct ratio
SR VT P
but VT = ST [tans from same point] /g : ‘5’3‘,,-& V'S
L RV_KV Yo 5 @
SR TS °
“ 1251
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